Indices Exam Practice

q
Q1. Simplify x? x x7 — X

Answer- X

(1 mark)

Q2. Simplify t° + t® p— -E

Answer: E

(1 mark)
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Q3. Simplify (a®)? — o

Q4. Simplify the following expressions:

a) 2t5 +=4t2 _ 2
= L¢
b) Ba°)* = ZL' 7')L‘
il ¥
— o
W

c) 3x3x5x = | S

(
Answer:
(1 mark)
A\ <
Answer-: 2 'E
(2 marks)
'Y
Answer: ? l a
(2 marks)
G
Answer- \ SX
(2 marks)
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Q5. Find the reciprocal of 9.

s
C‘

Answer- "'GT
(1 mark)
Q6. Work out the value of 772
_
T
=
— }
|
b
Answer- L
(1 mark)
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. N
Q7. Write down the value of (E)

I

Answer: k

(1 mark)
Q8. Find the value of ¢, given the equation:
y>xyc=y?
s+cC n_
=D S4¢ =71
E— > C = _3

Answer: & = - 3

(1 mark)
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Q9. Find the value of d, given the equation:

W6 . W9 — (W—lz)d
e
L/ = Ll
- I N -Ily{

)
A=
Answer-

(2 marks)

] [] E“ - l - [. l - [‘ ]] . ( ) x
- , t o A I /k)b Il ’

{
= _\(;0\ XSLJ
..(L?-

2L a
b
4—KO\ X Bz
,an-t L’f

= 2a’ b

\|

ooy e
Answer: 2 o L

(3 marks)
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Q11. Work out the following:

a) 28
Answer-: ZS(,
(1 mark)
3 3
(G
HB
b 2=
Answer- ( &
(1 mark)
¢ (-1’2 _— |
Answer: l
(1 mark)
Q12. Find the reciprocal of —%
I
T =3
"ﬁ—
T 1 7
S Answer- S
(1 mark)
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Q13. Write the following as a power of 3:
a) 27

S
Answer-: <
(1 mark)
3 b
b) i s
el -3
S
— ¢
Answer-: S
(1 mark)

Problem Questions:

Q14. An amoeba is a single-cell organism. On the first day, it splits into
2 cells. On the second day, each of these cells split into 2, and
this process continues the next day, and so on.

a) After how many days does the total number of cells exceed 4000?
I i

/2— - L ?. - ?()L“(
:w__ | A : |2 olMgf
2 = ol nswer-

(1 mark)

b) Will there ever be 32,658,791 cells? Justify your answer.

Tt 15 an o/ "‘V\KL'I', ad M e no of N
JO v connd have 37, (g, 1a) clis.

. hno -
Answer-

(1 mark)
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Q15. A new bank offers Charlotte an interest rate of 10% compound interest.

a) If Charlotte invests £11,000, show that the amount of money M which
. she will have after n years, can be written in the form,
M = 1.1"*1 x 10000.

s Yesrl | PO )|

7 d— C aan Wﬁlk‘%.
g Vel [, 00O x /-1 )

,‘Ob‘/ Yew N . )/’U\JJX"/

N
= 0,000 x |1 xI/
' —
— Io,()\)o x ,’

Answer-:

(2 marks)

(b) Use the equation in part (a) to work out the amount of money
she will have after 5 years.

: A
(.}kf\::g N 5‘[-: A Laue loloooxl-)

£19,7315. ()

(2 marks)

Answer-:
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